MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
~ (305) 375-2901  FAX (305) 372-6339

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/buildingcode

Laminators, Inc.

3255 Penn Street

Hatfield, PA 19440

SCOPE:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control Division
and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas
where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Division that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Omega-Lite Aluminum Wall Panels

APPROVAL DOCUMENT: Drawing No. LAM 1 to 6, titled “Systems 1 on 5/8”Plywood and Poured
Concrete, System 6 on 5/8 Plywood and Concrete block & System 4 on Poured Concrete and Concrete
Block”, sheets 1 through 6 of 6, prepared by Laminators, Inc., dated 12/14/09, signed and sealed by Allen N.
Reeves, P.E., bearing the Miami-Dade County Product Control revision stamp with the Notice of Acceptance
number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in
the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 09-0402.14 and consists of this page 1 and evidence page E-1, as well as approval
document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

NOA No. 09-1216.05
Expiration Date: July 01, 2014

MIAMI-DADE COUNTY
Approval Date: March 10,2010

P 1
72 1) //[) age




Laminators, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Drawing No. LAM 1 to 6, titled “System 1 on 5/8”Plywood and Poured Concrete,
System 6 on 5/8 Plywood and Concrete block & System 4 on Poured Concrete and
Concrete Block”, sheets 1 through 6 of 6, prepared by Laminators, Inc., dated
12/14/09, signed and sealed by Allen N. Reeves, P.E.

B. TESTS

1. Test report of Static Air Pressure Test per FBC, TAS 202, Cyclic Wind Pressure
Loading per FBC, TAS 203 and Tension Test per ASTM E8 of Omega-Lite
Aluminum Wall Panel, Report Test No. 01-44568.01, dated 08/07/03, signed and
sealed by Joseph A. Reed, P.E.

2. Test report of Ignition Properties Test per ASTM D1929, Rate of burning per ASTM
D635 and Density of Smoke per ASTM E84 of Omega-Lite Aluminum Wall Panel,
Report No. 01-50211.01, dated 04/30/04, signed and sealed by Joseph A. Reed, P.E.
“Submitted under NOA # 03-1126.02”

C. CALCULATIONS
1. Anchorage Calculations of Omega-Lite Aluminum Wall Panels, prepared by Richard
Boyette, sheets 1 & 2, dated 09/04/03, signed and sealed by Richard Boyette, P.E.
2. Anchorage Calculations of Omega-Lite Aluminum Wall Panels, prepared by Richard
Boyette, sheets 1 & 2, dated 05/18/04, signed and sealed by Richard Boyette, P.E.
“Submitted under NOA # 03-1126.02”

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO)

E. MATERIAL CERTIFICATIONS
1. Aluminum Extrusions die drawings: A-9, A-10, A-11A-15, 478-6, 512-3b & 50295,
produced by Laminators, Inc., and Star Technologies, LLC.
“Submitted under NOA # 03-1126.02”

F. STATEMENTS
1. Vapor Barrier change request letter issued by Laminators, Inc., dated 12/14/09, signed
by Kevin McKee.
2. No change letter issued by Laminators, Inc., dated 03/20/09, signed by John T. Wrght.
“Submitted under NOA # 09-0402.14”

3. Statement letter of code conformance issued by C-Buck Engineering, dated 09/25/08,
signed and sealed by James L. Buckner, P.E.

4, Statement letter of no financial interest issued by C-Buck Engineering, daged 09/25/08,
signed and sealed by James L. Buckner, P.E. %

“Submitted under NOA # 03-1126.02” AN

Carlos M. Utréra, P.E.

Product Control Examiner
NOA No. 09-1216.05
Expiration Date: July 01, 2014
Approval Date: March 10, 2010



#8 x 1"screws
@ 4" from panel

" Foam tape alumi
edge & 10" o.c. - : ; uminum » | » 16” 0.C. int diat. Vents
§ (see note #3 for 1/4" Gaska Tape, seal & spring—_ flashing 16 I 16 —l spacing Cl'? SE;%% S:uz panel adhesive (typ)
b coren type) /_ except for vent B = (.016—.040 thk) — (see note #4)
: holes 1/8"x3/8”, 1/4" Gaska Tape,— e : —
-1 % per BFT section except for vent o a
|+ holes 1/8"x3/8”", ] =
2 per 8FT section - £ s 3/4" H-moldin i
" 1 & la e - dashed lines
D~ e 3%
; {410 If‘raska Tape B aluminum —48 x 1” screws e SEP; n ?11;: ing— indicate panel
g, every - copin = ” ’ t/%m sizes
” < ping cover ® 4" from panel o f 1b " furring attop of
127 o.c. for venting | (.016—.040 thk) [ ' 2= 16 f Caulk
| —Vapor retarder sealant : : edge & 10" o.c. s emtilatiod G [0~ joint
7| (see note #1 below) || (see note #3 for =% e ™ location
p | | screw type) . Caulk
— w 2L
» N ]Omt
aluminum L+ ;{4101?”1::61'&1)6 L 4+—Panel adhesive « —location
flashing \_’%/—5/8”, 5 ply plywood 192" o cg for rg;ntin | | (see note #4)
(.016—.040 thk) A1) on 2x6 studs 167.c. -C- —g/ 1 3
~— fastened w/8D common Panel adhere to 4 R N
Panel adhesive/ \ Nl 41 nails ® 8" o.c. plywood w/ adhesive. <% . Foam tape N
(see note #4) % N p (see details on B p o i‘ p:slzgle
T PANEL ELEVATION) ~—1 £ ;
G pan te ”
Panel adhere t°/§ T 5/8", 5 ply PIYWOOd—/ ~——11 z mediaries 16
plywood w/ adhesive. \ N on 2x6 studs 167.c. LA 2 i I |- vents
S:I?Ege;iEﬂ\sz;?ON) \ N fastened w/8D common 4 Y| (typ)
TIGHT—FIT METHOD | D8ils © 8" oc. / (
DESIGN PRESSURE Vapor retarder sealant 2 1
RATING 104 PSF (see note #1 below) ; ,, - -
l———— 5-1111 6 5-11 13/16 ————I
1 DET AIL = 3/1 / Polyallomer
a 3/8” fit into extrusion CPA core
1b) DETAIL PANEL ELEVATION material

Caulk filler

Vapor retarder sealant

| (see note #1 below)

{

|

\
ANEAANEAN

A
|
\

12'-0" (max)

#8 x 1” screws
@ 4" from panel

1/4" Gaska Tape

#8 x 1” screws
@ 4" from panel

\
\\\ | 1 edge & 10" o.c. »
L1 ” edge & 10" o.c.
_ \§ < 5/82, g’ plydplngod (see note #3 for 5/8", 5 ply plywood (see note #3 for
Panel adh A= on 2x6 studs 167o.c. screw type) y
nel adhere \ fastened w/8 on 2x6 studs 16"o.c. screw type)
to plywood \ N e astene Y/ D common fastened w/8D commo v tard alant
w/adhesive. \ T nails @ 8" o.c. Pecora silicone . » apor retarder sealan
(cce detatis on N | NLLH sealant with nails @ 8" o.c. (see note #1 below) iy,
- 4,
PANEL ELEVATION) § EEHES>\—(4) 46 x 1" screws backer rod M " IS’Z:&\\‘}? 'c';"é'eR\v‘ Lg%
bead of silicone § ~—1] Sty 3 7 77 7 7 7 78 777 7 7 7 N[ 17 7 7 7 7T B 777 777 7777 3 ' &
Sealant o.c. (see note # =5 £2 .
ealan \ N | P type) [ Il [ [ 717 = (/7 [ J 77 [ [ [ [ 7 [ [ [ [ T 7 [ 1 .
drip edge \ T T or screw tiype A N O I =~ I 7 O AN A I O A A | == 1 Y Y A I A L 11
extl:-usiogn \ J AN O O O W = DA O WO W W L N A W =|=\ YA N O W [ (
(See note #5) \ \\_,/ 1/4” Gaska Tape, 020088 8,000 58 8 000 03 0 i 20095001 [080006 0 0994 | p8c80008 24000 98 SOLCTOEL 0
N //_ except for vent ) 3 9500 02 H 2600 00 ¢
1/8"(min A1 TH holes 1/8"x3/8", J
I 5 ><\_/§ 2 per 8FT section \ \_
sl ™ bead of “—J moldin -1/4" Gaska Tape .
ititetese el & ling Panel adhere to H moldin
! | L Self~Healing g;ha‘igg: extr usu;n 5 ] plywood w/ adhesive. extrusiong %97 /guo«/
sill Sealant | Fnd wall (see note #5) Panel adhesive (see details on (see note #5) 27 Jaw Vaky 20/0

aluminum
flashing
(.016—.040 thk)

@SILL DETAIL

DETAIL

@END

(see note #4)

PANEL ELEVATION)

@JOINT DETAIL

.015" white backer
il

{

6mm

przzzzzz

032" aluminum skin

OMEGA-LITE

f

PANEL DETAIL

FOR OFFICAL USE ONLY

PRODUCT REVISED
& complying with the Florida
Building Code ,

SYSTEM 1 ON 5/8” PLYWOOD

Vapor retarder sealant can
be either Sto Gold Coat 265 by
Sto Corp. or Air-Bloc 31 by Henry
Company. They are a water

shedding, vapor permeable, liquid
applied seal membrane. Two coats

applied.

outhern Pine PT
1"x3” nominal @ 18" o.c.

#2:] Wood furring strips

INOTE#S: | Screw types

ITW Buildex screws, stainless steel
Wood screws, hot dipped galv.
Sheet metal screws, stainless steel.

Screw head to be for wood or metal only.
(see attached documentation for shear
and pullout test results)

F—NOTE#& Panel adhesive to
be Liquid Nails, heavy duty
construction, LN901, applied
to plywood, 3"diameter,

3/8" thick, every 16" o.c.

made O

TE#5:] All molding extrusion
Alloy 6063, temper
T—4. Thickness is 0.045".

LAMINATOR'S INC.
3255 SOUDERTON PIKE
HATFIELD, PA 19440

DATE: 12/14/09

REV.DATE:

PAGE 1 OF 6

DWG NO: LAM-1




L1
System 6 clip—{ NEE=
t 5 5 ]
(see note #5) 5 Wws
o5 SUEp=
/ \\___//
\\_..//
aluminum |+
flashing ==
(.016-.040 thk) ]
Panel adhesive—/ \
(see note #4) \% \\_/;
Panel adhere to—/\ S~
plywood w/ adhesive.\ N A
(see details on \ P
PANEL ELEVATION) RN § T

la ) DETAIL

\
\ N | A
§ edp>
N AT
Panel adhere § g
to plywood \ .<: g
w/adhesive. \\ ]
(see details on § ™~
PANEL ELEVATION) \\ N [
\ N
N BT
System 6 clip \ [~
(see note #5) \ 11
N | NA
Pecora silicone Kl/
sealant il
uminum f—sill
flashing

(.016-.040 thk)

/_

e

#8 X 1"screws

® 4" from panel
edge & 10" o.c.
(see note #3 for
screw type)

[————1/4" Gaska Tape

2" long, every
12" o.c. for venting

Vapor retarder sealant
(see note #1 below)

5/8", 5 ply plywood

on 2x6 studs 167o.c.
fastened w/8D common
nails @ 8” o.c.

CLIP & CAULK METHOD
DESIGN PRESSURE
RATING 104 PSF

\\\—F P /—Cau.lk filler

Vapor retarder sealant
(see note #1 below)

5/8", 5 ply plywood

on 2x6 studs 16”o.c.
fastened w/8D common
nails @ 8" o.c.

1/4” Gaska Tape,
sealed with caulk,
except for vent

holes 1/8"x3/8",
2 per BFT section

-\(4) #6 x 1"screws

@® 6" from end &
12" o.c. (see note#3
for screw type)

Self—-Healing
Sealant

@SILL DETAIL

” 12"'0” (max)
#8 x 1'screws alumi
@ 4" f anel Foam tape uminum " . .
edge &r°1“3n IZ,,C_ seal & sgrmg J ~ flashing 16" — 16" 16" 0.C. intermediate Panel adhesive 21‘;’;38
(see note #3 for R (.016-.040 thk) I — spacing of 2"x6 st‘-‘%:(see note #4)
screw type) PRk y —1— —
System 6 cli i =
(see note #5) - i . ,. .
\\ p H—molding a 3/4 H-molding dashed lines
- W end of . \%;{)s and indicate panel
5 | o run (see ween flashing™ sizes
aluminum : =8 AE detail .1) 1bje" | furring at”top of 18" Caulk
coping cover : ] =] for tilation ren joint
(.016—.040 thk)\ aig EZ e ™ location
_ . - Caulk —==__
Ll +4—Panel adhesive Q joint
1/4” Gaska Tape N | || 1A (see npte #4) ® —location
2" long, every \ :
12" o.c. for venting "~ i 16” TH 16”
_/\ N L~ e 3 T H—mt{' TN 4
Panel adhere to — \\\ 5 1 j: oam’ tape [l panel > [Foam tape A
plywood Yv/ adhesive. \ [~ = & panel Jomt (see | I % panel
(see details on \ 1By o Dei adhesive detail .2) | H adhesive
PANEL ELEVATION) AT ) ooip pend).inte ; »  {fpenel inter .
” \ // ge OI: yanl 1arie 16 i 16 1m.e: es 5/a
5/8", 5 ply plywood \ ~T o J-molding i Plywood Vents
on 2x6 studs 16"o.c. k ,\ 5 <+ at . l 4 | (typ)
fastened w/8D common " E?tto.m/ 2 I L ™~
nails ® 8” o.c. an ~o | P .
Vapor retarder sealant - —p
(see note #1 below) end of ' 5=11 [13/16 T 5-11 13/16 ——]
run ! — / 3/8" (min) Polyallomer
min
1b) DETAIL PANEL ELEVATION [0 e beker_nerif
/ o
: , o770 e
#8 x 1"screws 5/8", 5 ply plywood #8 x 1’screws / T
@ 4" from panel on 2x6 studs 16”o.c. ® 4" from panel " . .
edge & 10" o.c. fastened w/8D common edge & 10" o.c. ‘032" aluminum skin
(see note #3 for nails ® 8” o.c. (see note #3 for OMEGA_LITE
screw type) screw type) 5/8”, 5 ply plywood P ANEL DET AlL

Pecora silicone

sealant

Vapor retarder sealant

on 2x6 studs 167o.c.

1} \\
(see note #1 below nails 6 G- o R ‘%PH?%H‘Z% FOR OFFICAL USE ONLY
[T 7T 77 7T 777 777 T AL 7T 7777 7T AT T T I T 7T 77 SO sk,
G
1N G WL W W W A W W O W W W A L W W W SH T Rl e iaa
s + 2 Building Code o
) 09000990 9 090909 o 600909 8 "_;;jé Le/:;:— .,/ /é 03
<System 6 clip 1/4” Gaska Tapex \ \~Panel /’/,,/GSO r‘\/.&@\ & Miami Dade Product Contrel
(see note #5) Panel adhesive 4 il ///,///// ON ALE\;\\\\\\\ Division
l~—End wall Panel adhesive Panel adhere to(see note #4) . :::lz;t silicone M
(see note #4) ) System 6 clip % 2, &w’_
plywood w/ adhesive. (see note #5)
(see details on 27 VAVPARY 28/0

@END DETAIL

PANEL ELEVATION)

DETAIL

@JOINT

SYSTEM 6 ON 5/8” PLYWOOD

LAMINATOR’S INC.

NOTE#1:| Vapor retarder sealant can

be either Sto Gold Coat 265 by
Sto Corp. or Air-Bloc 31 by Henry
Company. They are a water
shedding, vapor permeable, liquid
applied seal membrane. Two coats
applied.

NOTE#2:|Wood furring strips
)

be Southern Pine PT
1"x3” nominal @ 16" o.c.

NOTE#3: | Screw types
T

Wood screws, hot dipped galv.

and pullout test results)

Buildex screws, stainless steel

Sheet metal screws, stainless steel.
Screw head to be for wood or metal only.
(see attached documentation for shear

lNOTE£4:|Pa.ne1 adhesive to
be Liquid Nails, heavy duty
construction, LN901, applied
to plywood, 3"diameter,
3/8" thick, every 16" o.c.

See drawing 512-3b
or metal clip detail. Attach
every 12" o.c. with 1 1/4”
ITW Buildex screws. See note
#3 for more detail about
screw type.

3255 SOUDERTON PIKE
HATFIELD, PA 19440

DATE: 12/14/09 REV.DATE:

PAGE 2 OF 6

DWG NO: LAM-2




#8 x 1"screws @

(see details on

Panel adhesive

4" from panel edge Minimum of 1 1/4" pen. into concrete/cmu 4" from panel edge 12°~0” (max)
& 10" o.c. (see note 1/4” Gaska Tape & 10" o.c. (see note » . . Panel adhesive Vents
, ” | ” .C. t diat
#3 for screw type) except for’: veni,;’ f:::lm &:t:giing ’ #3 for screw type) 18 I 16 _" ;gac(ilg ;? ‘feﬁiengasirips (see note #4) (typ)
holes 1/8"x3/8”, . aluminum flashing =
2 per 8FT section /—(.016—.040 thi) 7 — —
1/4" Gaska Tape ) ., g . / 3
2" long, every i =<_~1/4" Gaska Tape, R
12" o.c. for venting 1 except for vent 2 H—moldin 3/4" / H-moldin, \ .
L e holes 1/8"x3/8", hews end of a leaps and -dashed lines
; I 2 per 8FT section ¢ g  run (see [ between ﬂta@ing/ indicate panel
. | ———TAPCON masonry anchor ‘ T 1/4” Gaska Tape E\E_, f [detail .1) ]_b 6’ :g:ring at"top of 16" Caulk sizes
te #5 N [~ 2/ 8, - run e
(see note #5) ; 2" long, every =2 f ,/ J: |pentifaiior \‘ iggﬂmn
' 12" o.c. for ventmg . i Caulk [~ <__
: . v joint -
|_—Wood fu;rrmg | / e —— Wood furring o L~location ~F
lumi (see note #2 below) . ' (see note #2 below) L
fal uI]I::.l-‘mum Panel adhesi aluminum
ashing anel adhesive coping cover . 16"
(.016-.040 thk) =+ (see note #4)  (.016-.040 thk) ‘—? anel E:ihes;ve @ N
= (see note #4) oam tape [l A
|_—— Vapor retarder sealant Vapor retarder sealant w panel
Panel adhere to—" (see note #1 below) AN : (see note #1 below) g sive
furring w/ adhesive. = Panel adhere to : &
(see details on ) /—Poured furring w/ adhesive. < | o, ed . poured
PANEL ELEVATION) o concretg, (see details on T cgEZret e \\\\\\\\\H””I‘Il///// 3 concrete |— Vents
/ 3000 psi  PANEL ELEVATION) | ( : 3000 get' e N 55/’;/,,// RN (typ)
’ .E =t .4 4 NNV ey 7 AN
=\ ESh N "~ EN G- 7
12) DETALL TIGHT~FIT METHOD SENGS S@-.ﬁo/’% l
a poureq | DESIGN PRESSURE No. 19384 Z i — T —
’ TR = - i 5-11 [3/16
oncrete, | RATING 104 PSF 1b) DETAIL N ,: * E —————5-11 13/16 1 |3/16" ———— Polyallomer
/3000 psi = ‘ 3/8" fit into extrusion CPA core
<-4 | —caulk filler STATE OF élf/ss PANEL ELEVATION / r.o15” white backer matf“al
—TAPCON h ” o PRI O 8 x 1"screws
<1 (see not:;n ;‘S;;nry e #8 x 1 'screws /0 ,L\\—?/$ S g 4" from panel ///////// / ]| 6mm
. —— ” 1 ~ \\\\\ ” P /
Panel adhere o4y 4 from” pane ” i edge & 10° o.c. —1/4" Gaska Tape T
to furri - 4 edge & 10" o.c. 1/4” Gaska Tape )7{ (see note #3 for P 032" aluminum skin
o furring | ——Vapor retarder sealant (see note #3 for y type)
w/adhesive. | / (see note #1 below) screw type) 21 Awve, A&y 26/0 screw iype OMEGA-LITE

PANEL ELEVATION)

bead of silicone
Sealant

drip edge
extrusion

(see note #4)

'\—(4) #6 x 1"screws
@ 6” from end &

(see note #5)

Panel adhesive

12" o.c. (see note #3
for screw type)

(see note #6)

Wood furring

I 1/8"(min) A
' “ga \ Pecora silicone
L sealant
' sill
: Self-Healing
aluminum
flashing Sealant

(.016—.040 thk)

2 )SILL

DETAIL

extrusion

NOTE#1:| Vapor retarder sealant can

(see note #6)

(see note #2 below) -

0 0O

@END DETAIL @FURRING DETAIL

#8 x 1"screws @

TAPCON masonry anchors

TAPCON masonry anchors

Vapor retarder (see note #5)

sealant (see note Panel adhesive

#1 below)

’*

H molding_/——End wall

A/—(see note #4)

3000 psi

PRI

MMM

o,

LIRS

bead of silicone
Sealant

Wood furring—/

(see note #2 below)

Sealant
H molding extrusion
6)

Panel adhere to
furring w/ adhesive.
(see details PANEL ELEVATION) (see note

Poured concrete,

bead of silicone

PANEL, DETAIL

Building Code

FOR OFFICAL USE ONLY

PRODUCT REVISED
a3 complying with the Florida

Acceptance No £G-/2/(. 05~
By -

Division

Mimﬂ%ie Praduct Control

o JJOINT DETAIL

SYSTEM 1 ON POURED CONCRETE

be either Sto Gold Coat 265 by

Sto Corp. or Air-Bloc 31 by Henry
Company. They are a water shedding,
vapor permeable, liquid applied seal
membrane. Two coats applied.
Wood furring strips

to be Southern Pine PT

1"x3” nominal ® 16" o.c.

Screw types

NOTE#:

Wood screws, hot dipped galv.

Buildex screws, stainless steel

Sheet metal screws, stainless steel.

Screw head to be for wood or metal only.

(see attached documentation for shear

and pullout test results)

NOTE#4: |Panel adhesive to

be Liquid Nails, heavy duty

construction, LN901, applied

to furring strips, 3"diameter,
3/8” thick, every 16" o.c.

NOTE#5: | Masonry Anchor type:
|Model: P

F3-134 ITW Ramset Red

NOTE#6:| All extrusion

moldings made of

LAMINATOR’S INC.
3255 SOUDERTON PIKE
HATFIELD,

PA 19440

Head, 3/16" x 1 3/4", with Alloy 6063, temper T—4.

1 1/4" embedment @ 6" from

< Thickness is 0.045”,
top & bottom, and 12" o.c.

DATE: 12/14/09 REV.DATE:

PAGE 3 OF 6

DWG NO:

LAM-3




#8 x 1’screws

@ 4" from panel Foglm&tgpe. p 12'-0" (max)
» se rin
e dge & 10" o.c. k System 6 clip P aluminum 18 [ 16" 16” 0.C. intermediate Panel adhesive '\;ents
i (see note #3 for & 008 B oo flashing ! spacing of furring strips (see note #4) (typ)
I _screw type (see note #6) Sp ks (.016—-.040 thk) =
\‘m.gﬂ E 1/4” Gaska Tape ; [ I
94 /2"”long, every F—System 6 clip
4 12" o.c. for venting (see note #6) ' . i \
Minimum of % N % ™ ED_.;D g%dm a . Sé;s I:;én oldin, | b= ld-dashed lines
1 1/4" pen. R> TAPCON masonry anchorsx —— 1/4" Gaska Tape g run (see \%etwgen flashing"| ;?:;:ate panel
into concrete/cmu ‘_ (see note #5) 2” IOIlg, every A\E/ detail _1) 1b 6' ;g.:nng a op of 16» Caulk
12" o.c. for venting He ; ~ joint l
/ ES ‘L prentilation ™ L location\
| _—Wood furring é —— Wood furring b — Cci';lf ™~ |
‘ ; . (see note #2 below) -/ (see note #2 below) > 1 Th\ /iocation C |~/
faill:;nh;:xlg i Panel adhesive :Lulinninufx ver Panel adhesive L
o .
(.016-.040 thk) (see note #4) (.011)65040 thk) [ (see note #4) @ {/ 16"
|_— Vapor retarder sealant Vapor retarder sealant ;I;&lnell ding i
Panel adhere to—" (see note #1 below) (see note #1 below) ™ ot (see [ A 7
furring w/ adhesive. Panel adhere to " g ddtesl 2) M concretel
(see details on />—Concrete furring w/ adhesive. —— Concrete B 16" Sl
PANEL ELEVATION) block, C-90 (see details on block, C-90 2 ! ]~ Vents
PANEL ELEVATION) gy, - 5 : N ] (typ)
CLIP & CAULK METHOD . S TR, ' A
DESIGN PRESSURE SONCEN§ Q7 | 4
la) DETAIL RATING 104 PSF 1b) DETAIL $ X N 19354@ ol Z f : - : _ -
S 0. % Z 5—11 13/16 ifl_ — 5-11 13/16" ————]
TAPCON masonry anchors = Y .- w o
=g n = : 3/8" (min) Polyallomer
see note #5 = - s
( # ) 3/\% STATE OF QU}JQ: PANEL ELEVATION 015" white backer f]faﬁ,ei?aljle
: 8 x 1"screws PN RS
-— Caulk filler é 4" frcs>m panel ////,'\{:3‘ (OR\OP\O\%}\\\\\ 8 x1” / ‘
[ Concrete edge & 10" o.c. 7S TON AL E ® & trom panel yoppr ) s
foanftlellrﬁggere block, C—-90 (see note #3 for TAPCON b i edge & 10" o.c / f
_ N screw type masonry anchors -C-
w/adhesive. |_—Vapor retarder sealant ¢ pe) (see note #5) Clllep, 7. /ec«z»c’- (see nc;te ?g‘a for .032" aluminum skin
i screw e
g"SANeeELdel?:aI..;ﬂl\szg‘?ON) (see note #1 below) Pecora silicone 27 JanLady <506 P OME GA_LITE
Panel adhesive sealant TAPCON masonry

System 6 clip
(see note #6)

Pecora silicone

T (see note #4)

Si—holes 1/8"x3/8",

| —Wood furring
(see note #2 below)

| —1/4" Gaska Tape,
sealed with caulk,
except for vent

2 per 8FT section

~~—(4) #6 x 1"screws

sealant
y A SRR
7 | .
aluminum sill
flashing
(.016~.040_thk)

< )SILL, DETAIL

NOTE#1:| Vapor retarder sealant can
be either Sto Gold Coat 265 by

Sto Corp. or Air-Bloc 31 by Henry
Company. They are a water shedding|
vapor permeable, liquid applied seal
membrane. Two coats applied.
Wood furring strips

to be Southern Pine PT

® 6" from end &
12" o.c. (see note
#3 for screw type)

Self—-Healing
Sealant

<-System 6 clip
(see note #6)

End wall

Panel adhesive
() _(see note #4)

Vapor retarder
sealant (see note
#1 below) A

L/
<

0200202020

SO CCCEE
SRR

O
R

— ]
=== Solaas

AR RS

S =

2SN

1/4” Gaska Tape——/

Panel adhere to
furring w/ adhesive.
(see details on PANEL
ELEVATION)

@END DETAIL @FURRING DETAIL

1"x3"” nominal @ 16" o.c.

Screw types

'W Buildex screws, stainless steel
Wood screws, hot dipped galv.
Sheet metal screws, stainless steel.

Screw head to be for wood or metal only.

(see attached documentation for shear
and pullout test resuits)

J 1/4" Gaska Tape—/

System 6 cli
(see note #6)

\—Panel

Pecora silicone
sealant

anchors

Concrete block, C-90

Panel adhesive
(see note #4)
~———— Air gap

PANEL DETAIL_

Acceptance No
Expiration

FOR OFFICAL USE ONLY

PRODUCT REVISED
:m myim with the Florida
- (2/6.05

7

SYSTEM 6 ON CONCRETE BLOCK

@JOINT DETAIL

NOTE#4:| Panel adhesive to
be liquid Nails, heavy duty
construction, LN901, applied
to furring strips, 3"diameter,
3/8" thick, every 18" o.c.

INOTE#5: [Masonry Anchor type:
Model: PF3—-134 ITW Ramset Red

Head, 3/16” x 1 3/4", with
1 1/4" embedment ® 6" from
top & bottom, and 12" o.c.

NOTE#6:| See drawing 512-3b
or metal clip detail. Attach

LAMINATOR’S INC.
3255 SOUDERTON PIKE
HATFIELD, PA 19440

every 12" o.c. with 1 1/4"
ITW Buildex screws. See note

#3 for more detail about

DATE: 12/14/09 REV.DATE:

screw type.

PAGE 4 OF 6

DWG NO: LAM—4




#E}ttic (lz:,)scfr e h Foam tape System 4 angl 120" (max)
wl or eac . ystem angle . R " . . Vents
system 4 angle seal & spring (see note #6) 16 l— 16 '—' ;gac(i)ﬁ% ;?tgurg‘;dgxaﬁﬁps Panel adhesive (typ)
(see note ;;43 for 3 | aluminum | - see note #4)
screw type flashing T N
1/4" Gaska Tape (.016-.040 thk) =
2" long, every : | TAPCON
‘ — 4 . . : == masonry anchors _ . » v \
System 4—1] ] 12" o.c. for venting ! %\\‘l& é_—(see note #5) _ fnf‘ f,}dm 1\5. Sé;s Emfl oldin, -dashed lines
angle (see S = [ \"’”ﬁ.;"‘ g; run (see \getw en flashing| indicate panel
note #6) ’ TAPCON masonry anchors s ' £ detail .1) 1b furring attop of sizes
— y " }—VWood furring _— © ’ for ; Caulk -
(see note #5) 8- Tati ran joint
Pop rivet—i Pop rivet (see note #2 below) 'Eﬁ | ventilation ~ {ocation
(see note )) N (see note Panel adhesive = i : 7 Caulk ~ N
#7) A \ /’ - Wood furrin, #7) " (see note #4) 3 joint .
\ s g . © — L ~location ~=
aluminum-—J' \ (see note #2 below) . y—Vapor retarder sealant | _ _'K_ =
flashing \ Panel adhesive aluminum (see note #1 below) ~ n y 1
(016-040 e | (see note ). coping cover N [y | I
—/§ (.016—.040 thk) "~ Poured \\\\\\\\””“”H///” N panel el furring parx’zel
Panel \ _ * | ~— Vapor retarder sealant / conct\?&v\ N. R E@///’// ~ adhesive joint. (see doubled e ive
\ (see note #1 below) __/ " 30(1@?‘_\/3\5/\/8 /%\’//,/ g Drip T:tire ; detail .2) tzcll'ceﬁh \lent)g% 1 \
" = aa=t SV &% E . enpt o
Minimum of~/§ TP Poured Panel adhere to - == S5 Notossa . Z. .?ggolod.ll:ng £ g | pane, ing. gg:::gte — Vents
1 1/4” pen. \ 4, concrete, furring w/» adhesive. 1 = w* Ve i ] g at @ 4_ _l] (typ)
into concrete/ \ e 3000 psi (see details on ( R % - bottom | 2 AN Il G
cmu \\ t < PANEL ELEVATION) = R = of run o - o
——F 21 1/2" f——rtf 1 172" 20, STaTE oF g/u S - R AN
A Y. - S -
. < 94 RIS O AN N . v g
1a) DETAIL 1b) DETAIL % S5, O R O ———— 5-11 [13/18 3 511 13/16
. TAPCON masonry anchors i, NAL s = 3/8” (min) Polyall
(see note #5) V—GROOVE & BEND METHOD PANEL ELEVATION CPA core
+1 1/2" —h DESIGN PRESSURE 015" white backer __ - 4 "0
§ - - 9 b—Caulk filler — #8 X 1”screws RATING 104 PSF 48 x 1screws / % |
Panel -~ with (2) for each -
§ : ._..__ggggegSiconcrete, (system 4 angle %4/;7 ; {E&c;—;/o :;:?e Ig‘a)‘tfc;zl'l geIZCh V ///////// 6mrm
. i . te #3 for & b4 /
Pop rivet — N\ |94 e see no see note #3 for
P i . Vapor retarder sealant screw type) ( ¢ .032” aluminum skin
(see note \ : _——vap screw type)
#7) § < (see note #1. below) TAPCON masonry Vapor retarder sealant TAPCON masonry OME G A_LITE
\ L Panel adhesive anchors (see note #1 below) anchors
S}’Stl.em( 4 § 17 .. 4" (see note #4) (Zee note #5) A ; \ \ (see note #5) PANEIL DETAIL
angle (see \ i g .
| _—Wood furring | . . .
note #6) {88 b - Y /Y o V] —poured concrete, 3000 pei | FOR OFFICAL USE ONLY
. -, . . 4 - 4 A - : < .
ge]-fl"Hfaling \ w44 /4 a T R A B .4 4.4 - a Panel adhesive
ealan N - | —1/4" Gaska Tape, L f = Ha- o . a ax : (see note #4) PRODUCT REVISED
Pecora /‘}ﬁ: N / :izlee;i va;:'hvz‘;;m{' ~Pop rivet E Wood furring :m‘_’ﬂ‘npi)g;%cﬂﬂlthel’krid.
silicone ‘»A\}\_N\ <% holes 1 /8"23/8", (see note #7) Wood furring FeRFT _—F (see note #2 below) Acceptance No )7~/ /é‘as;
al QIR X 2 per 8FT section doubled to ) Expirstion
- ‘)» ool ’ " Eghn:;ive reach panel se90 +1 1/27 —1/4" Gaska Tape By
— TS ~(4) #6 x Lsorems (see note #4) : Pop rivet Drvid < 1o Conte
. wi or eac _ $ 3o vie
oz L System 4 angle (sce 777777 A, AR
(.016-.040 thk) note #3 for screw type) P e:_lori silicone (Ssyes:elr::)ti ;J;)gle Panel adhere to furring w/ adhesive. Pecora silicone “—System 4 angle
Backer rod, sealed Eied 3‘:1&11 (see details on PANEL ELEVATION) sealant (see note #6)

(2)SILL DETAIL

NOTE#1:{ Vapor retarder sealant can

withcaulk, except
for vent holes 1/8"x3/8”,
2 per BFT section

SYSTEM 4 ON POURED CONCRETE

4 FURRING DETAIL
@END DETAILQ RING DETAIL"5)JOINT DETAIL

be either Sto Gold Coat 265 by

Sto Corp. or Air-Bloc 31 by Henry
Company. They are a water shedding,
vapor permeable, liquid applied seal
membrane. Two coats applied.

Wood furring strips

to be Southern Pine PT

1"x3” nominal @ 16" o.c.

NOTE#3:| Screw types
[TW Buildex screws, stainless steel

Wood screws, hot dipped galv.

Sheet metal screws, stainless steel.
Screw head to be for wood or metal only.
(see attached documentation for shear

and pullout test results)

[NOTE#4: |Panel adhesive to
d Neails, heavy duty
construction, LN901, applied
to furring strips, 1/2"dia.,
3/8" thick, entire length of
furring.

NOTE#5:| Masonry Anchor type:
Model: PF3-134 ITW Ramset Red
Head, 3/16” x 1 3/4", with

1 1/4” embedment ® 6" from
top & bottom, and 12" o.c.

OTE#6: [System 4 angle made
of 3003 aluminum, 1/2 to 1/3

LAMINATOR'S INC.
3255 SOUDERTON PIKE
HATFIELD, PA 19440

hard H14-16. Placed 6" to 12"
from ends, and every 24" o.c.

Pop rivets are 1/8"

DATE: 12/14/09

REV.DATE:

aluminum rivet & plain steel

mandrel, 2 per system 4 angle]

PAGE 5 OF 6

DWG NO: LAM-5




©
OIS 8 &

System 4 | H
angle (see
note #6) °§

T~

Pop rivet
(see note
#7)

aluminum
flashing
(.016—.040 thk)

]

Minimum of—
1°1/4” pen.
into concrete/
cmu

Panel

Lizgdizpszn

((

DETAIL

—_—
Q

Panel

7///%

Pop rivet
(see note #7)

System 4
angle (see
note #6)

Self-Healing
Sealant

L A,

Pecora:

silicone =

sealant ° 0% ,
0 o
00

3
o,
o
i

—

—
[ —

Lsi]l

Lluminum
flashing
(.016-.040 thk)

< )SILL. DETAIL

NOTE#1:|Vapor retarder sealant can

| 1/4" Gaska Tape
/_2" long, every
|_—"TAPCON masonry anchors

|_——Wood furring

- (see note #4)
| — Vapor retarder sealant

L —Caulk filler

___Concrete

|_—Vapor retarder sealant

|_—Wood furring

L —1/4" Gaska Tape,
—holes 1/8"x3/8",

—(4) #6 x 1”screws

with (2) for each
system 4 angle (see
note #3 for screw type)

#8 x 1"screws
with (2) for each
systém 4 angle

Foam tape

(see note #3 for

screw type)

12" o.c. for venting

(see note #5)

Pop rivet

(see note #2 below) —/
aluminum

Panel adhesive coping cover

(see note #1 below)

Concrete

block, C—-90
(see details on
PANEL ELEVATION)

TAPCON masonry anchors
(see note #5)

block, C-80

(see note #1 below)

Panel adhesive
(see note #4)

(see note #2 below)

sealed with caulk,
except for vent

2 per 8FT section

Backer rod, sealed
withcaulk, except
for vent holes 1/8"x3/8",

(see note
#7)

(.016-.040 thk)

Panel adhere to—/
furring w/ adhesive.

#8 x 1"screws
with (2) for each
system 4 angle
(see note #3 for
screw type)

TAPCON masonry anchors
(see note #5)

Pecora silicone
sealant

t=——FEnd wall

System 4 angle

12'-0" (max)
16" 0.C. intermediate

DESIGN PRESSURE
RATING 104 PSF

——\ A (see

Clllere 970 £Cries.

27 VANOARY 200

Vapor retarder sealant

note #1 below)7\

#8 x 17screws
with (2) for each
system 4 angle
(see note #3 for
screw type)

(see note #5)

P

"TPop rivet i
(see note #7) < Wood furring
Panel doubled to
adhesive reach panel
(see note #4) =T
N2 gy

System 4 angle LPanel

(see note #6)

adhere to furring w/ adhesive.

(see details on PANEL ELEVATION)

2 per BFT section

be either Sto Gold Coat 265 by

Sto Corp. or Air-Bloc 31 by Henry
Company. They are a water shedding,
vapor permeable, liquid applied seal
membrane. Two coats applied.

NOTE#2:|Wood furring strips

to be Southern Pine PT

1"x3” nominal ® 16" o.c.

Screw types

37

dulldex screws, stainless steel

Wood screws, hot dipped galv.
Sheet metal screws, stainless steel.

Screw head to be for wood or metal only.
(see attached documentation for shear

and

pullout test results)

v
e seses!
SRS

2\ é"‘ Pal

Pecora silicone
sealant

3)END DETAIL @URRING DETAIL®JOINT DETAIL
ol

TAPCON masonry anchors

Concrete block, C—90

Panel adhesive
(see note #4)

Wood furring
(see note #2 below)

1/4" Gaska Tape

Pop rivet
(see note #7)

System 4 angle
(see note #6)

Vents
” | ” .
seal & spring (see note #6) 16 l 16 —l spacing of furring strips Fg‘el:elngfejhjﬂ‘)re [ (typ)
| o
_ aluminum
/—ﬂashing — =
(.016-.040 thk)
3/4" H-moldin, \ : ,
/—TAPCON masonry anchors - “éfs and 4 ul ii-—-dashed lines
} *__ (see note #5) E ; ween ilaso' g; | :ilzd;gate panel
= for - run P Caulk
~Wood furring E:co mtﬂa/tior ~ joint !
N (see note #2 below) = Couk - locat1on\
F a —~
\ | Panel adhesive 2 joint .
\ (see note #4) 9 _~location ~=
\ —Vapor retarder sealant
\ (see note #1 below) 3 ™~ foam—7
§ furring tapel&
- urrin, ane
\ /-Concret%\\\\\\‘\””'%’////,,,/ ™ il | doubled adhesive
N block & Nee )y, il |to reach | Wrntire |
\ S IS L %, B Hl | back of length o
§ \\\\?\?’-" \CENS k-%”/ ~ ; il | pane A poured~ | i
\ = & . . 22y : ; % concrete | if }— Vents
§ Sw; Notesss 23| fffe T 2 N o | (typ)
g * = |
2o gerE oF i \‘L =
Z AN A RENES — » — .
1b ) DETAIL ‘%}@og-“OR\Q \\@\‘\\\\\\ [——— 5-11 [13/186 ! 5-11 13/167 —————] .
L AR .o olyallomer
//’///k:/’C’NA\"%\.‘\\\\\\\ PANEL ELEVATION 3/8" (min) CPA core
V-GROOVE & BEND'Mi#t¥HoD material

"'.015" white backer
/

l

6mm

777227277777

032" aluminum skin

OMEGA-LITE

f

PANEL DETAIL

Building

FOR OFFICAL USE ONLY

PRODUCT REVISED
as Wyc';i with the Florida

Acoeptance No ¢ 2. 05"
poveptance No 07 [0/

7

SYSTEM 4 ON CONCRETE BLOCK

NOTE#4:| Panel adhesive to
be Liquid Nails, heavy duty
construction, LN801, applied
to furring strips, 1/2"dia.,
3/8" thick, entire length of
furring.

‘[NOTE£5: |Masom'y Anchor type:
Model: PF3—134 ITW Ramset Red

Head, 3/16” x 1 3/4", with
1 1/4” embedment ® 6" from
top & bottom, and 12" o.c.

OTE#6: [System 4 angle made

of 3003 aluminum, 1/2 to 1/3
hard H14-16. Placed 6" to 12”
from ends, and every 24" o.c.

Pop rivets are 1/8"

aluminum rivet & plain steel

mandrel, 2 per system 4 angle.

LAMINATOR’S INC.
3265 SOUDERTON PIKE
HATFIELD, PA 19440

DATE: 12/14/09 REV.DATE:

PAGE 6 OF 6 DWG NO:

LAM-6




